11.0dev Cevap Anahtar

1. df =d(x*y) Adx + d(xyz) Ady + d(xz?) Adz

= (2xydx + x?dy) A dx + (yzdx + xzdy + xydz) A dy + (z%dx + 2xzdz) A dz

= —x%dx A dy + yzdx A dy — xydy A dz + z?dx A dz

= (yz — x?)dx A dy + z%dx A dz — xydy A dz

d(df) = d(yz—x?) Adx Ady + d(z?) Adx Adz — d(xy) Ady A dz
= (—2xdx + zdy + ydz) ANdx Ady + 2zdz A dx A dz — (ydx + xdy) Ady A dz
=ydx NdyANdz—ydx ANdyAdz=0

2. F:R? > R? F(u,v) = (u? —v?, 2uv)

a) F(u,Z)=(u2—4,4u):>x=u2—4,y=4u:>x=u2—4,u=%
y2
= x = 1—6—4 (parabol)
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b) u? +v? =1, v > 0yarim ¢emberi asagidaki sekilde parametrelendirilebilir,
u = cost
v = sint
F(a(t)) = F(cost, sint) = (cos2t,sin2t), 0 <t < m (1 yarigaplitam ¢ember).

,0<t<m= a(t) = (cost,sint), 0 < t < w olmak lzere,
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